GOVERNMENT
FINANCES

FISCAL POLICY IN INDIA

siness so it cannot earn money to spend. Henc,

from the economy to enable it to spend ‘ha;
money in terms of requirements and national prlorl‘tlesl;l;?:; g:r\lf:l:tnuﬂr‘\;n;rals;s Mone,
primarily through ‘taxes’ and the spending known as pu P : dp'o 1y whig,
affects either the manner in which the government raises resource or spends is knoyy, N

“fiscal policy’. The objectives of any fiscal policy of a country are as follows:

The government does not perform any bu
the government has to raise the money

(1) To ensure that the expenditure in an economy is in terms of national Prioritis,

boost growth for the welfare of the peoplg. e
(2) Expenditure being incurred should not lead to a price rise situation.

(3) There should be efficiency in the way of resources that are raised and spent.
(4) Efforts are to be made to avoid wasteful expenditure in the cconomy.
(5) Resources being raised by the government through taxes should not create burden

the common man.

(6) Taxation should be ‘just and helpfu
(7) The policy should aim for overall improvement of the welfare of the economy.

 in reducing income inequalities.

In India, there is no fiscal policy by the name; however, the objectives of those are bein
achieved by the annual financial statement popularly known as the budget which
tabled in the parliament. Hence, budget is not merely the details of expenditure
taxes but is also a policy tool to sub-serve objectives of a fiscal policy. The budger, s
is more than a balance sheet of government receipts and expenditures presented &

parliament.
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s 70 per cent of ; pital. In India,

is 70 p the total expenditure whereas plan expendi :
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The highest expenditu

expenditure.
ponents of non-plan revenue expenditure? The first is the inte
S rest

f the loans raken by the central government both internal and
cent of the total expenditure. Secondly, subsidies
goods). Thirdly establishment expenses of defense.

UT, establishment expenses of central government
b
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s and not representing borrowings) and the other
the government of Jess certain of their receipt of
r cent is revenue and 10 per cent is capital receipts.
 tax revenue (84 per cent of total receipts). Taxes

“RECEIPT

in an economy is me
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ment; regularity in their receipt
ital (cither creating 2 liability for

borrowings)- Of the total receipts: 90 pe
The primary source of revenue receipts 1

could be cither direct Of indirect.

How to distinguish direct tax from in
whom the tax has been levied is identifiable,
orporate taxes,

be shifted. Examples can be income tax; ©
is not identifiable or if the burden can be shifted it is an i
e excise duty (payable by companies Of manufacturing ¢
import of goods), service tax (tax on services being rendered by service providers), etc. _
Fifty-five per cent of the tax revenue Jrrives through Jirect taxes while 45 per cent of

is applied for indirect raxes

the revenue is from indirect taxes: The base on which the tax
(length of staples
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in cotton). India primarily follows an ad valorem indirec
d by the central
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ect this mismatch the Reserve Bankp“
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India provides temporary overdraft to the 8oV
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“NATURE OF GOVERNMENT BUDGET

Thus, so far we have discussed the expenditure and receipts. What happens if expendity
exceeds receipts? It would result in a deficit or otherwise in a surplus and if both mag

then balanced. '
y—a deficit, surplus or a balanced budget? To answer ti

What is good for an econom
question, a few aspects should be understood. There is a difference between personal and
government budget and that being in a personal budget, spending is strictly in accordae
with income. However, in a goverhment budget, it is important to understand tha

expenditure is seen first and the reason for receipt is because of the need for spendingin
the economy. That is, a government budget by its very structure is deficit-oriented.
Only in an economy where receipts surpass spending can there be a surplus of tk
government scales-down spending to match the receipts. This could drag down govd
as lesser expenditure is taking place. More so in India, given the inflexibiliy to bi®
down non-plan expenditure, any reduction in expenditure'would imply lesser apt

1
<

cility is for a time peri
mber

od of 90 days and the amount of overdryf:
and 6000 crores during October to Marchls

expenditure and expenditure on social sector.
A balanced budget is good only if the budget is seen as a balance sheet
accounts of the government of India. A better thing can be a balanced bud
which is an incremental increase in expenditure in any given year

increase in receipts in a given year.
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5 s components of expenditure and rece: ——— ot
pif{ef . .in the budget. CCCIPLs are aypa: :
f'dé‘ﬁclrs 1 Xplaineq for a
t 0 Abetter Underseap ¢
S y g
Receip®® Yin crores ’
S . Exl’cndimrc
enue receipts. 90,000 Ri
Reven 4., Non-plan reve crm
. Yenue cchl d_ ores
) ﬂ) (mteres( Mditure C
Capital receipts (10,0000 5. Paymeny) 70,000
( ofwhiCh market on-plan capia| expendityre (50,000)
porrowings of the : : 25,000
goverrlmem) : |
Plan capital expenditure 50
: TPl 000
¥ endi
3. Total receipLs: & 1,00,000 8. Total revenye : :lturc 0,000
expendit
(1+2) 4 +7) o 1,00,000
9. Total capital I '
- pital expenditure (5 + 6) 75.000

Total expenditure @+9) 1,75,000

From the above example, we acquire to know various kinds of deficit

(1) Budgetary deficit is total receipts (3) less total expenditure (10) 75,000 crores).
(2) Fiscal deficit is total receipts (but excluding government market borrowings) less total

expcnditure X 85,000 crores)..

(3) Revenue deficit is revenue receipts (1) less revenue expchditure (8) (10,000 crores).

(4) Primary deficit is fiscal deficit less interest payments (4a) X 35,000 crores) (A negative
sign before the deficit would indicate surplus). '

Since economies have begun targeting the fiscal deficit, usage of budgetary deficit has been
discontinued. Of the remaining three, fiscal, revenue and primary which can be said to
being potentially most dangerous? It is not the fiscal but the revenue deficit’. As revenue
deficit implies borrowing money for meeting the consumption of the governrne(:int hand n:tts
to create assets. Borrowings per se are not bad as long as.assets g€t created and the ass

can service the borrowings. d- for by revenue Jeficit. The
‘ . EP ounte or
In India, 70 per cent of the fiscal deficit is acc s tovwads

. seivi interest paymen
primary deficit, on the other hand, tests for the Sensmw'gi Offolrntthe ﬁscilydcﬁcit.
fiscal deficit or how far the interest payments are responsibic

which is the case in lndéa‘ jented
i cit-o1l
udget is de
ernment DUCE say as what

flation. It is difficult to

the interest payments and structural in nature:
high fiscal deficit is on account of interest payments
Hence we started by saying that the natl'lrc of gO;’n
but too much of deficit is also bad 23 it contributes ©

uld be the ‘safe’ level of fiscal deficit.
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; - ich a balance jshe 4
A‘ba‘mc thumb rule is it should be under 3 pef cent of GDP \;vn\\w‘ 1m;;u‘-“§:? b“_d%t\ fint® o bedt
multiplier. There are various compulsions of the g(,vcn.uncqr w:(‘;a(,-wc\farc f fn}?“u‘Q have i
control difficult CSpCCi;\“V given their rcsp()nsi\)“incs for ! C cmcx‘ (;\3 - (N
infrastructure develo wmcm’. “tC. - cice t framc f adc€
Still the gov ‘_ . : t‘ 1y the above had set dch‘nnc time frame for "Cduq“ urchased,
government in linc wit Libility and Budget Manage P schi
the fiscal and revenuc deficit under the Fiscal R(-si’,(“." by 0.5 per cent ever .ngQ“‘ ek s -
- adual reducti of revenue deficit Y 27 ) Y year g d service
Act (FRBMA) for gmdu.n\ reduction  fiscal Jeficit the aim was o req be an T
brought down to 7€ro by 2007-2008. In fCSl’zu 02()(55. Clearly, the targets have n Uee (CENVA ‘
by 0.3 per cent every year bcginning from 2004 0 ot hQQ“ A [’rlt;}ﬂ‘
achieved. ' :mulus package VAT. 1he
_ da fiscal stmu package to en
The global crisis initiated during 2007 red nd a conscious decision tak e, Bengal a7
the lnd;an economy does not slip into 2 rece:s_s;or\r :vc N0 g, “Why’
. . : i is 1m
the FRBMA provi#on ol e Sgua'tl:l): al:\ dzﬁcits have to be checked the on} replace™
If the expenditure needs are 17 e;(lle o governmem has focused through taxyrv;ay . Jifferent
to augment the recfeipts and. this li ‘r";e of receipts for the government as it oﬁerezmn' product C
with the taxes being 2 major SO e tax t© DP ratio which is presently a : a5 SOME
otential. There is 2 need to increase t hould b ~7 dMound £in
p « A3 _ e growth of the economY there should be proportionately | I If in
per cent especially giver the g ¥ lay, 4 state V
increase in taXx revenue. - ' chat stat
JESERSEES B Seate
13.6 REY ~EFORMS—INDIRECT TAXES : e
: 1 t
It was mentioned previously that indirect ta¥€s cor'lmk;ute ab}(\).ut /.iS Per cent of y, fir
tax revenue. A major source of indirect taxes 18 'CXC15_C uty W ich is payable on vah; 2 T
of manufacturing activities in the economy. Excis€ duty like other indirect taxes by ct
inherent structure is rcgressive in nature. 3) T
For example, the excise duty on salt is 10 per centona factory price of T 10y "
means the retail price for a packet of salt is Y11 with an excise of X1 per packet gy s
to the government. The price of Z11 is being paid by a person who is earning 5 4) "
per month and-also even by a person whose earning 18 %1,00,000 per month. T ;
tax burden is higher on the people with lower income and that is what is mean? '
regressive. The's
Secondly, multiple excise structure with multiple rates giving rise © diffee in ta
interpretation on tax payable giving scope for evasion, litigations and revenue lossve as p:
government. servi
The third issue in excise is the cascading effect of taxes. For example, Maruti b tca;x |
from MRF company. The purchase price of tyres from MRF would have 2 Comg:‘“‘ S'
of excise duty, which becomes the input price for Maruti and excise duty b ‘°m; res.
on the full value of car. This is known as the cascading effect, that is, & in or
manufacturing cost and get again taxed. gt pIC
L3 . . . XC\SC / ¢,
[he government has tried to address the issue by reducing the slabs of € . sta
. et tye
inimize the regress” " 7 go
\ ta

on essentials or mass goods to m
the best way to prevent i1
ns at each stage ©

and lower excise duty
regard to the cascading effect,
(VAT) which is a tax on the value additio
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2 W . ) ed partial ad;
4 owever, 1t was o tial
urchﬂsed‘ h restrictive in nature. T, adjustmen ,,
- 1€ governy
nent .

e of inpu i 6
S\\'idcr schert ] i Frcdn for the excise dutjes ;
an pvices) PUT¢ ased for direct use in prod ¢S Tnputs (
ENVAT) at the central level during 2004 uction know
A" re(f‘rm has_bee“ at the state level with th
The credit for this goes to Shri. Asim D the re
i ' as
B and can be hailed as a landmark in tax r qupta
aWhy it is a major reform? etorms.

fdutie
S ON capita|
rWicplaccd M( )I)V/\Tg(\)«:)'ds
. Materials, capit| l:ih
' 0
central valye addf(l(: ‘
ax

placem
ent of sales tay with
State

] cst

First t

o make all
: the st
ment of sales tax with a state V. ate govern
replace ate VAT. Th i ments to
d'%erent ales tax rates £ e came orod . e sales tax regime was ve 3gree for the

i et " products in different states. A ry complicated with

{ one ¢ across . . A sta .
roduc all states and to drive a consensus for th‘te VAT required ‘one
is was hercul
ean effort

s some States WOluld stand to gain and others would tend to |
' . . o lose.
Ifina %artlcu arl state sales tax was a high of say 24 per cent but th
, state VAT was on y 12.5 per cent for that good clearly there wolixtk; l: o under
e revenue loss for

that state government.
Srate VAT made effective from 1 April 2005 has the following salient £
eatures:

(1) State VAT is not a new tax but only a change in th _
final stage to the v alue addition stage. ge in the way of collecting tax from the
(2) This allows for set-off of duties from the tax payable but against original invoices/

challans of the tax paid on the inputs purchased.
There would be a uniform 4 per cent state VAT on 270 mass-consumed goods across

Jl states, a uniform VAT of 12.5 per cent on 280 goods and 1 per cent on gold and

silver ornaments across all states.
(4) Those with a turnover of Z5 lakh
10 50 lakh a composite tax but wit

750 lakhs.

The state VAT has helped in checking tax evasion

in tax administration and collection, increased re

as part of deeper reforms, the govcmment is proposing to integrate taxing of goods ;‘md
ax rate as goods and services

services at differential rate separately into on¢ rax with one ¢
taxing concurrently as the central government

tax (GST) with both the centre and states
GST (SGGST).

GST (CGGST) and the state government
the indirect (X regimes enlarge

"Ihis ’ . ll
would considerably S1°F lfyGST rate resulting in lower prices does

for the govcrnmcm not o
s soon as there is broad based co

ndirect taxes are comm

()

and less would not be liable for any VAT, from 35
h no set-off. VAT is pay ble for turnover exceeding

by introducinga ‘bill culture’, transparency
venue for the state government. Further,

the tax base for larger
of goods and
suffer. The government
nsensus with the
endable and the

fRcient indirect

resource generation and thus lower

services but also in ensuring the revenu€

proposes to implement che GST regime 23777

states and technology put in place. Reforms in !

gOVCfnant’S P[QPOS&‘ Of PrOPClling to .

tax regime at par with other mature economies ©
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TAX REFORMS—DIRECT TAXES

at of the t
1(1 h.\\cd on

cater reve )
rly income tax is Progressive

ax revenuc and it is a better

4 bility 1O pay’, higher the

Di g ’
rect taxes as scen carlier contribute 55 per <€
nue with least burden g,

jve in nature af
tax rate leading 1o Y
t taxcs pa

ve in naturc. |
. . s people
{s of inflation pushes peopic up the tay

perioc n higher taxes paid apgy

1flation resulting !

hand, the coffers of the government fills

on the other thereis 2 reduced spendiy,

’ o
o

way of taxation as it is progress
income, pmgrcssivcl'\'\ more the 1

. . jcula
low income. Difcc A

the masses or those with
which are regressi

: and in contrast to other taxcs

The pmgrcssivily of incomec taxcs in
bracket, as pay packets get inflated due to i
reduced spending by the individuals. On on¢
because of people moving up the tax bracket and

This phenomenon is known as “Fiscal drag- . he economy’
. the )
How many people do you chink are tax Py " b i
3 onomy, about 31.5 million iy
£l

3 Indian €c

At present, 3.5 per cent are tax payers ii the in . ¢ Tars
population of over one billion people: This number 1S lovi/ fiSPCC1f3ill()i’lcocrl‘5'der;]“g the fact thay
India in its growing economy with increased income rising ! eh o tbe affluent clagg
and large number joining the elite billionaire club. In comparison, the number of tax paye,.

has only increased by 11 per ¢
What are the ways throug :
could be three ways through which i

? (1) Increase in the direct t
34
<
:

ent.

h which tax pa
t can be increased 2

ax revenue can be increased: T,
 There

yers and t
nd are as follows:

ax rates.

(2) Increase in the tax base.
(3) Enforce tax compliance.

Increase in Tax Rate
tax rate is seen negatively and resented by the people. There is also 5

and revenue generated. Starting from a low
ively related and increases tax revenue. However,
es becomes counter-productive as it lowers m;
is popularly known as the ‘Laffer curve.

e implies that any increase in tax rates woul
owering of tax rate would lead to increassd
that India is on the Laffer curve wit

Any increase in
relationship between the direct tax rate
rate and gradually increasing it, is posit
beyond a level, any increase in tax rat
revenue rather than in increasing it. This
An economy being.on the Laffer curv
lower the tax revenue and on the contrary 1
revenue for the government. It is widely believed
limited prospects of raising taxes.
This is because high tax rates lead to tax evasion,
enerati i
gf eraulon (Lf blaccl; money (taxes not paid). All efforts are made to minimize
of taxes legally and i isi ive i i
gally and illegally. It serves as a disincentive in the economy leading ol

of income an - . .
d the output. Hence, raising tax rates is not an option available in [ndia.

non-disclosure of income and
the inciden®

owering

Increase in Tax Base

Tax base refers to that threshold level of income on which taxes become applicable- Inds

has an exemption level, that is, if income s less than Y 1.6 lakh R1

9 Lakh for vome
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At present the exemption level i very

flation does not factor in cost of education trans

. . . . » fanspory
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o Agriculture eing a state subject can be taxed only b er the tay

net.
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b}' the ce tral gover ent. Th S5 li e mcreasmg tax rate, 8 nt and not

.“’- (’,(’
even increasing t \ e
i isi i Vi i ax bas ¢
fcasiblc option for raising direct tax re enue in Indija. & e is not a
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The other way to increase the tax base s
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ensuring Tax Gompliance s
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This is t0 ask the question that, is every person who ought to pay taxes is paying his/her
uxes in terms of existing laws and the second are the people who are not paying should
sctually be paying taxes. This is what is meant by tax compliance. The government has

made an initiation by making the income tax return form user friendly and easy to fill up
by an individual and it is known as “Saral’.
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The problem in India is that of tax compliance with lot of leakages, large-scale tax
evasion and black money. It is estimated that over 40 per cent of GDP is black money
which is circulating in the economy on which no taxes are paid.

fEXJ BLACK MONEY

it is necessarily an
i i t to convey that it is nec
with the colour excep :
Black money has nothing to do with _ : e
evil. Itisan L}Inaccounted ‘ncome, earned through illegal chan&els ljn o}:l e tpax S
. i i ck m
anti-national use and conspicuous consumpton. Checkmg a

are the critical aspects of tax compliance.

i . CcC
i formcd n cash, sour
) g g nera Cd VVhCIl blg transactions arc per f ! .
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el T Dl ma}I ll):;l r'lr(:tc::)hnilt TSO definitely black money:
However, say somebody gives 710 lakh 1

: ond
- received beyo
made or T o
. < where payments have to be ey, OF iill ditterendly
In other way, all transacciuobn s in o is black mo e
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a level of say ¥10,000 and abo
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{ al ‘\‘\
rcdlt cars
drafts, €
of cheques,
y way
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direct transfers of money in banka

ayJ
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i in cas _ fa | :
If you deposit T10 lakh lfn " where you gt ir). If )’Olft o white rransacti
. © nt1tide

until if you show the source If e

n’_ Thus,
a ate blaCk
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ositit1ny ost
the same amount and (};0‘1 SCP than through panks and PO%* 7
transactions performed Other A
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generation is high tax rates, complex ¥ lecys m(l, ine bank acc
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